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(vi) dagacy @ wa B At T8l 2 |
Note : (i) There areinall 30 questions in this question paper. Al questions are compulsory.

(i) Question No. 1 to 10 carry one mark each. Q. No. 11 to 15 carry two marks each, Q. No. 1610
25 carry three marks each and Q. No. 26 to 30 carry six marks each.

(i) QuestionNo. 1 to 5 are multiple choice questions. Here four options are given in each guestion.

Write the correct option in your answer book.

(iv) There is no overall cheice in question paper, however, an intemal chorce has been provided intwo
questions of 2 marks, three questions of 3 marks and three questions of 6 marks each. You have to

attempt only one of the given choices in such questions.
(v) Inquestions on construction, drawing should be ncat and exactly as per the given measurcment.

(v1) Use of calculator is not permitted.
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In following. the rational number is-
(i) =2 i) = (n1) 0.375 (iv) 5-3

2. f2od €398 2+ 7x — 10 & YD B qUAHT B — !
Product o!'the zeroes of quadratic polynomial x* + 7x + 10 is —
h 1 iy 7 () 10 (iv) 17

3. fEawy @fiEeer ox! - 4x ¢ 3= 0 37 [fdawey s — |
The discriminant ot quadratic equation 2x7 - 4x + 3 = will be
Q) 24 @ 16 Gi) 3 (iv) -8

4. ga B U fag wR R @l @ 8 g g - 1
How many tangents can be there at a point of circle —
(1) I i 2 i) 3 (iv) 4

5. Evg e P grfiSsn Bl 8 — !
The probability of impossible event is --
i 0 @ 1 (i) -1 (V)

6.  THR U (AP) 1L 4. 7. 10 . &1 1001 U ST BT I
Find the 10th termof A.P. 1,4.7, 10 ............ .

3
7. afe sinA 3 T cos A BT A ST DS | 1

-~

3
IfsinA= S then calculate cos A

N AD 2 . 1
8 == H DrF IBC o7 %)FE = 3 BRI EC=6 QI T a1 AL 5190 & g | 1
I Al 2 _
In the figurc. PE & BC and 77 = 7 IMEC = 6 cm, find AL,
DR 3
9. SEnE 7 W 3R SHUR N 10 WH T 4 B Agad 5hd 9 | I

Find the volume of a cylinder having height 7 cm and base diameter 10 cm.
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10. A= ARV | x @1 919 FIa HIT - 1
@BwYs Find the vaiue of X in following table -
ug CIRCIEG]] dgft qReaRal
Term Frequency Cumulative Frequency
2 6 6
4 20 26
6 24 50
8 28 X
10 15 93
a, b c .
11. ot ;‘i‘*é e - o e s @R s P YRea sl g g Profra Yerd v
forvg ¥ wferede ot 2, wwioR € eferar Foreh €| 2

. 4 b | .
On comparing the ratios ;‘2‘ b and o find out whether the lines representing the following pair of
2 2

linear equations intersect at a point, are paralle] or coincident.

X+2y—4 0
2x +4y-12 = 0

12
12. af¥ cos 6 = s al cot O + cescc O PT AT I HITT |

2

12
Ifcos © = 1—“ , find the value of cot © + cosec 0.
D

13. y-31 9 a8 g Fa AT S {755 (6, 5) T (-4, 3) | TG B |
Find a point on the y-axis which is equidistant from the point (6, 5) and (- 4, 3).
Jar (OR)
fasgalt (4, - DR (-2, -3) P e I YEEATE B g g & Fluid e FIRAC

Find the co-ordinate of mid point of the line joining points (4, — 1) and (- 2, - 3).

14. 21 RFard M1 AR e Q31 0@ {9 Fad € |1 38 91d @ b dar g 37 e @) yifddar
0.62 & | XA & Mg @ WTHAT Ty & ° ”
Two players, Sangeeta and Reshma. play a tennis match. It is known thart the probability of Sangeeta winning
the match is 0.62. What is the probability of Reshma winning the match.

327a1 (OR)
TH At H 3TTA SR S FHreh A B[ 59 A H ¥ S W argwedr Matel arht 8 g6aT wriiet
@ g fF g ara B
A bag contains 3 red balls and 5 black balis. A ball is drawn at random from the bag. What 1s the probabiluy
that the ball drawn is red.

o
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13. 554 B &1 ww g AR e 8 99 oY Red Ue farg @ g9 we et Y o &) =
Balfd 2
Draw a circle of radius 5 em. I'rom a point 8 cm away from its centre, construct the pair of tangents to
the circle.

16. gfaers s omRen &1 7aTT &R 4830 A1 759 & HCF 7 ST | 3
Using Euclid s diviston algorithm, tind HCF of 4830 and 759.

JYqr (OR)

g AR 5 ¢+ 2 TF sy e §)

Prove that 6 + \/'ﬁ Js an irrational number.
17, & < @t sra PRTT et anT 27 3 AT 182 8 3

Find two numbers whose sum is 27 and product is 182.

el XY W Xy }
18 AT 42 =5 AR -2 =6 B ER B 3
D P4
Solve the equations : X ri=sad i s 6.
7 3 2 9

19. 39 FHAR ot (AD) & U 22 ugi &7 AT TG AN, frad d =73k 22af U 149 1 3
Find the sum of first 22 terms of an A.P. in which d =7 and 22nd term is 149.

20. frg AT cosA  lisinA 3

- +— =2scc A
Preve that : [+sin A cos A
3erar (OR)
g T - + si
Rz P {(sec A + tlan A)® = I_f:’_f“A
Prove that 1-sin A

21. 39 forg @ fdenes gma e o (g3l (6, -9) ofiR (4, 6) @ e arel Yuve 31 314 # ot
fafore @war 8 | 5
Iind the co-ordinates of the point which divides internally the line joining the points (6,--9) and (4, 6) in the
ratic 3: 4.

22, 4 (3, 1).(7.-3).¢12,2) ¥R (7.2]) v TqF & A9t @ e € O Rrg W0 & aga &
&5 132 93 HrE@® BN 3
(), 1.7, -3), (12, 2) and (7,21) are the co-ordinates of the vertices of a quadrilateral. prove that the arca
of quadrilateral 1s 132 square unit.
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@ovus ABCD U& e € frad AR DC & @ 399 fdgd Rer g 0w A 2

24

2]
|9,

26.

. ¥ Broifad 9T & &amd g AR, IR} I O T A Y got A

<)
s s ¥ | g A Ao - €0 , 3

BO DO D C

ABCD is a trapezium in which AB || DC and its diagonals intersect each other at the point 0. Prove that

A0 _ €O
BO DO

ve AT T Bnps ABC & 9R%Y o Be 3 T $ITY, orret oy Ry 7 e @ 9@ g

(V9]

ol @1 — B |

f ‘ fad

~

. - . - I3 . J - -
Construct a triangle similar to a given triangle ABC with its sides equal to q ofthe corresponding sides of the

triangle ABC.

Brwnt A 7 Q9 o 14 T € g LZAOC = 40° B |

Find the area of the shaded regionin figure, if radii of the two concentric circles with

U2

centre O are 7cm and 14 ecm respectively and ZAQC = 40°.

J20aT (OR)

T AN U TP 8 A Hdl & SR IED R B 5w 2 I & | T 3! NgAqa= @ T B
HT T @l A ' | M B AT s BT |
A right circular conc is 8 cm high and the radius of its base is 2 cm. The cone is melted and recast into

the shape of a sphere. Find the diameter of the sphere.

ufa ¥ g1 AEH D1 ATY S¥D JF P AP ¥ AN TA B SrAW | ur" 9§ g W8T ) Y SHD
g3 P ATG B W P ot | IS gHE g F1a B 6
After five years, the age of Mohan will be three times that of his son. Five years ago, Mohan's age was
scven times that ot his son. Find out their present ages.

F2rat (OR)

TH XFE Th FHA GTe ¥ 360 WM A R a7 & 8 AR 98 T 10 O/ mver afres g
@ g I ArEl H 3 °ver & JHY ofdl | OISl &Y O Sd ST |

A train travels 360 kim ar auniform speed. I the speed bad been 10 km/h more, it would have taken 3 hours
less for the same journey. Find the speed of the train.
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27.

28.

29.

7 §lo A ¥T9 B IR § 0& TR @ RRER &1 S¥IR &IV 60° 3R /D 9IS & HTIHT 197
45° & | TheR 2 a8 T BT | 6
From the top of a 7 m high building, the angle of elevation of the top of a tower is 60° and angle of
depression of its faot is 45°. Determine the height of the tower.

HUAT (OR)

AR @ R A 3R & TR @ § 100 Mo M1 150 Hio B g W Rerg 1 fAIgat § AAR @ AR
& I=E B W BT § | g DR 5 TR @ SaE 506 WMo g

The angles of elevation of the top of a tower from two pointsata distance of 100 m and 150 m from the base
of the tower and 1n the same straight line with it are complementary. Prove that the height of the tower is
5046 m.
fig AR & 3 FIET FR[at & aFme & FUT IHB! FIT TR & FquTd B @ &
g 6

Prove that the ratio of the areas of two similar triangles is equal 10 the square of the ratio of their corresponding
medians.

a2ral (OR)

Foma 3 # omaa ABCD & 3igk Red 0 & fa=g &) fig @fve &6 ° D
OB? + OD? = QA + OC?,

In the adjoining figure, O is any point inside a rectangle ABCD. Prove that -
OB? + OD? = DA2+ OC2. 8 ¢
TG B [P I @I {9 47 IEEER 8 3R SR A TR 2 | 9t TR 91T 1 @y ik
S HHI: 126 He AR 5 Ao 2 TN TG I FA $Is 21 Wo & T T B F9M H WITT U
&1 AFGS S BT | Ty B 50 T 9 @t Aex A X | T B qou N ;d BRW) 6

The lower part of a tent of a circus is in the cylindrical shape and upper part is conical. if the diameter and
height of the cylindrical part are 126 m and 5 m respcctively and the total hcight of the tent is
21 m, find the area of the cloth used for making the tent. Also find the cost of the cloth at the rate of
Rs. 50 per m?.

O

30. fa=forRRed sterel & angd oa PN ¢ 6
Find the median for the following data :
it o
. 20-30 30-40 | 40-50 50-60 | 60-70 | 70-80 | 80-90 | 90-100
Class interval
CISCIEG| :
e 12 14 16 20 16 10 | 8
Frequency
e Y Tl
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